4-2 Congruent Triangles
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Consider the triangles above and complete the statements below given that the two triangles are congruent.
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Given that ANOP = ABXD, complete the statements below.
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Let the following be true: AABC = AXYZ , AB =8, BC =10, AC =11.

If XY = 2n, what is the value of n?

If ZX = 2n — 1, what is the value of n?

If ARST = AHIJ, ZR =97°, 2] =37°, and £S =4x+14, what is the value of x?

If AABC = AXYZ , which of the following must be true?

A. /A=/7 C. XZ=BC
B. AC=XY D. None of the above
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